LOosungen B

a) p-g-Formel
x*-5x+6=0

X,/ :+2,5i\/m
X,/ :+2,5J_r\/ﬁ
X,, =+15+05

X =3 und X, =2
L=1{23}

b)

2x* —5x=0[: 2

x> -25x=0
x(x—25)=0

X, =0 und x, =25
L ={0;2,5!

d) p-g-Formel

—4x* - 4x+8=0} (- 4)
x*+x-2=0

X,/ :—O,Sim
X2 = -05+./2,25

x,, = -05+15

X, =1und X, =-2
L={21

e)

X? = 4X— 4x
x*—4x=0
x(x—4)=0

X, =0 und x, =4
L = {04}

9)
:—13x2—2x+3:0‘::—13
X -6x+9=0
Xi/2 :3i\/ﬁ
X112 :3i\/6

X1/2:3
L={3}

guadratische Erganzung

X* -5x+6=0-6

x*> —5x+6,25=-6+6,25

(x-25 =025,
Xx-25=105+25
X, =3und X, =2

L={23!

c)
0,5x* —50 = 0+ 50

guadratische Erganzung
—4x* - 4x+8= 0 (- 4)

X2 +x—2=0+2

x> +x+0,25=2+0,25
(x+05) =2,28,
x+05=115-05

X, =1und X, =-2

L={21

f) p-g-Formel

X2 =3X—T7-3x+7
x> =3x+7=0

X, =15+4/2,25-7
X, =15+ 4,75
nl.

L=1{1}
h)

—x? —8x =—25-8X+8x
—x* =-25:(-1)

x? :25|\/_

X, =5und X, =-5

L= {-55|

guadratische Erganzung
X? = 3x—7-3x

X? —3x=-7

X? —3X+225=-7+225
(x—J,5)2==—4,7q\/r

nl

L={]



i)
36=-x°|:(-1)
-36=x

nl.

L={1

K)
3x*=0:3

X1/2:O
L ={o}

m)

—4x = 2X%|+ 4x
2x% +4x=0:2

x> +2x=0
x(x+2)=0

X, =0 und x, =-2
L={-20}

0)

01x* - 4,9=0+49

)

5,6X = 1,4%?|- 5,6x
14x* -56x=0:14
x*—4x=0
X(x—4)=0

X, =0 und x, =4
L ={0,4}

l) p-g-Formel
12— x = x?*|-12+ X
x> +x-12=0

X, = -05+,/0,25+12
X, = -05+,/12,25

X,, =—05+35

X, =3 und X, =-4
L=1-43|

n) p-g-Formel

6x* —18x+36=0: 6
x*-3x+6=0

X, =15++/225-6
X2 ::LSi\/TJS
nl.

L={1

guadratische Erganzung
12— x = x?[+ x

x> +x=12

x> +X+0,25=12+0,25
(x+05) =1225
X+05=+35-05

X, =3 und X, =-4
L={-43}
guadratische Erganzung
6x* —18x+36=0: 6

X* -3x+6=0-6

x> —3x+2,25=-6+2,25
(x-15 =-378,

nl

L={]



